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+ RP HP DGH VRXS RI VKH GD\ e
VHUYHG Z WK Z DUP FLDEDWD

+ RP HP DGH FRWDJH SLH e
VHUYHG Z VK FKLSV DQG SHDV RU D VLGH VDM®G Z LVK
FRAMVM®Z

+ RP HP DGH / DvDJ QD e
6 HUYHG Z VK FKLSV DQG D VLGH VDG

7 UDGLWRQDOS@RXJKP DQ V / XQFK e
$ VHGIFWRQ RI FRRNHG P HDW SRWN SLH FKHHVH
SLFNGHV DQG %UHDG

-DFNHWS RVDVR e
o &KHHVH

o %HDQV

e 7XQD P D\R

e * DUQF 0 XVKURRP V

6HUYHG Z LK D VDG JDUQLVK FRCGHIVADZ DQG
FULVSV
$GG DQ H[ WD 1La2QJ IRUe

6 DQGZ LFK RU 7 RDVWH e
* +DP DQG FKHHVH

* &KHHVH DQG SLFNGH

* &RUWRQDWRQ FDXQ QRZ HU

* 7XQD P D\R

6 HUYHG Z VK D VDG JDWLVK FRAGIVDZ DQG
FUVSV

2 DVWWDNHV e

6 DI | RUGVKLIUH RDVWDNHYV VHUYHG Z LVK
* %DFRQ DQG FKHHVH
* %HDQV DQG FKHHVH
* 6DXVDJH DQG FKHHVH

) LVK 1LQJ HU VDQGZ LFK e

%HDQV RQ VRDVW e
Z LK D FKRLFH Rl Z KLW RU EURZ Q EUHDG

&KHHVH RQ VRDVW e
IMKFKRLFH Rl Z KIWH RU EURZ Q EUHDG

6 LGHV

&KLSV e
&KHHW FKLSV e
6 DG e




